
L3(4) (mod 2)

blocks defect matrix

41.G : 1 8 26× 5
2 2 4× 1

121.G : 3 8 26× 5
4 = 3 ∗ 5

42.G : 1 8 28× 5
2 2 4× 1

122.G : 3 8 28× 5
4 = 3 ∗ 5

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5

11 = χ1 1 . . . .
201 = χ2 2 . . 1 1
351 = χ3 1 1 1 1 1
352 = χ4 1 1 1 1 1
353 = χ5 1 1 1 1 1
451 = χ6 2 1 1 2 1
452 = χ7 2 1 1 1 2
631 = χ8 3 2 1 2 2
632 = χ9 3 1 2 2 2

101 = χ11 1 . . 1 .
102 = χ12 1 . . . 1
281 = χ13 2 1 . 1 1
282 = χ14 2 . 1 1 1
361 = χ15 2 1 1 1 1
701 = χ17 2 2 2 2 2
901 = χ18 4 2 2 3 3

81 = χ19 . 1 . . .
82 = χ∗11

19 . 1 . . .
83 = χ20 . . 1 . .
84 = χ∗11

20 . . 1 . .
561 = χ21 4 1 1 2 2
562 = χ∗3

21 4 1 1 2 2
801 = χ23 3 2 2 3 2
802 = χ∗15

23 3 2 2 3 2
803 = χ24 3 2 2 2 3
804 = χ∗15

24 3 2 2 2 3

ϕ1 = 11
ϕ2 = 81
ϕ3 = 82
ϕ4 = 91
ϕ5 = 92



Block 2: ϕ6

641 = χ10 1

642 = χ16 1

643 = χ22 1
644 = χ∗3

22 1

ϕ6 = 641

Block 3: ϕ7 ϕ8 ϕ9 ϕ10 ϕ11

151 = χ32 1 1 1 . .
153 = χ33 1 1 1 . .
155 = χ34 1 1 1 . .
211 = χ35 2 2 1 . .
453 = χ36 2 2 1 1 .
455 = χ37 2 2 1 . 1
633 = χ38 4 3 2 . 1
635 = χ39 3 4 2 1 .
841 = χ40 3 3 2 1 1

61 = χ41 1 1 . . .
362 = χ42 3 3 2 . .
421 = χ43 1 2 1 1 .
423 = χ44 2 1 1 . 1
601 = χ45 3 3 2 . 1
603 = χ46 3 3 2 1 .
902 = χ47 4 4 2 1 1

241 = χ48 . . . 1 .
243 = χ∗43

48 . . . 1 .
245 = χ49 . . . . 1
247 = χ∗43

49 . . . . 1
481 = χ50 3 2 1 . 1
483 = χ∗31

50 3 2 1 . 1
485 = χ51 2 3 1 1 .
487 = χ∗31

51 2 3 1 1 .
1201 = χ52 6 6 4 1 1
1203 = χ∗7

52 6 6 4 1 1

ϕ7 = 31
ϕ8 = 33
ϕ9 = 93
ϕ10 = 241
ϕ11 = 243



Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5

11 = χ1 1 . . . .
201 = χ2 2 . . 1 1
351 = χ3 1 1 1 1 1
352 = χ4 1 1 1 1 1
353 = χ5 1 1 1 1 1
451 = χ6 2 1 1 2 1
452 = χ7 2 1 1 1 2
631 = χ8 3 2 1 2 2
632 = χ9 3 1 2 2 2

101 = χ11 1 . . 1 .
102 = χ12 1 . . . 1
281 = χ13 2 1 . 1 1
282 = χ14 2 . 1 1 1
361 = χ15 2 1 1 1 1
701 = χ17 2 2 2 2 2
901 = χ18 4 2 2 3 3

202 = χ25 2 . . 1 1
203 = χ∗3

25 2 . . 1 1
283 = χ26 2 1 . 1 1
284 = χ∗11

26 2 1 . 1 1
285 = χ27 2 . 1 1 1
286 = χ∗11

27 2 . 1 1 1
362 = χ28 2 1 1 1 1
363 = χ∗3

28 2 1 1 1 1
801 = χ30 3 2 2 3 2
802 = χ∗15

30 3 2 2 3 2
803 = χ31 3 2 2 2 3
804 = χ∗15

31 3 2 2 2 3

ϕ1 = 11
ϕ2 = 81
ϕ3 = 82
ϕ4 = 91
ϕ5 = 92

Block 2: ϕ6

641 = χ10 1

642 = χ16 1

643 = χ29 1
644 = χ∗3

29 1

ϕ6 = 641



Block 3: ϕ7 ϕ8 ϕ9 ϕ10 ϕ11

151 = χ32 1 1 1 . .
153 = χ33 1 1 1 . .
155 = χ34 1 1 1 . .
211 = χ35 2 2 1 . .
453 = χ36 2 2 1 1 .
455 = χ37 2 2 1 . 1
633 = χ38 4 3 2 . 1
635 = χ39 3 4 2 1 .
841 = χ40 3 3 2 1 1

61 = χ41 1 1 . . .
364 = χ42 3 3 2 . .
421 = χ43 1 2 1 1 .
423 = χ44 2 1 1 . 1
601 = χ45 3 3 2 . 1
603 = χ46 3 3 2 1 .
902 = χ47 4 4 2 1 1

366 = χ53 3 3 2 . .
368 = χ∗7

53 3 3 2 . .
481 = χ54 3 2 1 . 1
483 = χ∗31

54 3 2 1 . 1
485 = χ55 2 3 1 1 .
487 = χ∗31

55 2 3 1 1 .
605 = χ56 3 3 2 . 1
607 = χ∗43

56 3 3 2 . 1
609 = χ57 3 3 2 1 .

6011 = χ∗43
57 3 3 2 1 .

843 = χ58 3 3 2 1 1
845 = χ∗7

58 3 3 2 1 1

ϕ7 = 31
ϕ8 = 33
ϕ9 = 93
ϕ10 = 241
ϕ11 = 243


